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Question: 1 
   
Which two statements are correct about greenfield and brownfield deployments? (Choose two.) 
 
A. A brownfield deployment has no network environment. 
B. A greenfield deployment has no network environment. 
C. A greenfield deployment has a network environment and must be upgraded. 
D. A brownfield deployment has a network environment and must be upgraded. 
 

Answer: B,D     
 

Question: 2 
   
Which aspect of network design facilitates future growth and troubleshooting efforts? 
 
A. business continuity 
B. high availability 
C. modularity 
D. security 
 

Answer: C     
 

Question: 3 
   
You are the network architect with a large banking institution with operations around the world. Any 
outage results in lost revenue for your company, and may result in lost customers. Network uptime is 
your top priority. 
In this scenario, what should be your focus? 
 
A. return on investment 
B. business continuity 
C. capacity planning 
D. service visualization 
 

Answer: B     
 

Question: 4 
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Which three categories should the collected data be sorted into during the data analysis phase? (Choose 
three.) 
 
A. customer requirements 
B. customer data 
C. Industry standards 
D. personal data 
E. project boundaries 
 

Answer: A,C,E     
 

Question: 5 
   
What are two characteristics of a greenfield deployment? (Choose two.) 
 
A. A greenfield deployment means that there are fewer restrictions. 
B. A greenfield deployment is more common. 
C. A greenfield deployment always implies integration with other vendor products. 
D. A greenfield deployment means a new deployment. 
 

Answer: A,D     
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